81.

61.

Compound Interest 2011-2019 Compilation

Compute the Compound Interest for the principal Rz, 7,600 for 2 years at 4% per annum,
which is compounded énnually. -
(4) Rs.600 (B) Ra. 850
(C) Rs. 680 - o Re. 612
2ot PEG HPapD FL DY seEAL ST Uy HE@ . 7.500-6@ 4% Byen® sl B aySid 2
B HITHEEHHE PoOUl T8, HRLsGD s G ailigidd Y sodrs. .
@ @ 600 ® @ 650
C) m 680 . - (D m612
Find the compound interest on Rs. 6250 at 14% per annum for 2 years. Compounded
annually
(A) Rs. 1670.40
(B) Rs. 1525.50
M Rs. 1872.50
(D) Rs. 1175.70
215 (5. 6250 g 14% sl B g apeppuid 2 AaTHSERSES LUl LT, SAFDSTE sal ()
aullg &L wmrg?
(A) . 1670.40
B) m. 1525.50
(© @ 1872.50
D) ¢m. 1175.70
What will be the compound interest accrued on a sum of ¥ 7200 at a rate of 5% per annum in
2 year?
M T 738 (B) ¥ 1738
(C) T 1268 (D) % 648

5% au(pL aul_ly cllflgsHe epumis 72008@ @rer® euBHLSIHD HerL @G Fal () cul_ly eTeucuaTa,?
(A) T 738 (B) ¥ 1738

©) T 1268 (D) T 648
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100.

75.

A person gets Rs. 50,000 (Fifty thousand) as loan with interest rate 4% p.a. from a bank. If
the interest is calculated year wise, then the compound interest, after two years, is

(A) 4,000 (B) 2,000

© 2,080 P27 4,080

9@@& pe® ey 4% eenm . 50,000 (gougrdyb) eumduildmbs sLems QumEp.
<@ REQsTm wen ey sarsdl L, @ran® arhser sfsH el sl Cauamrqw sal ()

GuL g uITETg)
(A) 4,000 (B) 2,000
(©) 2,080 (D) 4,080

Find the compound interest on Rs.50,000 at 16% per annum for 2 years compounded
continuously. i '

M Rs.17,280
(B) Rs.16,280
(C) Rs.15,280
(D) Rs.14,280

550,000 Dis@iée 16% aul iy eSssH@ 2 2anPaeiien sl Geut i eraman?
@).  .17,280

®B) .16,280
©) 15280
D) 14,280

Calculate the compound interest on ¥ 9,000 in 2 years when the rate of interest for
successive years are 10% and 12% respectively

a) ¥ 1,188 Z 2,088
(© T 4,39 D) %259

M AsTmssE AME5055 AIOEEHESE ponCu 10% wHmb 12% ey Sssdd T 9,0005@ 2
2AET(H&EHEHEG QSTLT 6uL_Llg. cTeuGI6TE?

a) % 1,188 (B) % 2,088
(© T 4,39 D) T 2,59



6. Find the C.I. on Rs. 15,625 at 8% p.a. for 3 years compounded annually
4058 (B) 4508
(C) 4500 (D) . 4048

arumis 15,625-8@ @ eullg 8% erafled, 3 Q{@ﬁ@&;@é@ Fal_(Heul_lg. STenTe|LD

(A) 4058 | (B) 4508
(C) 4500 : (D) 4048
55. Find the C.I of Rs. 15,625 at 8% for 3 years compounded annually
(A) 5058 (B) 3058

/ 4058 (D) 6058

15625 &@ e (® eul_g. 8% aigid ecrafler 3 @ HEEHEES sl () QuLly STETE|ID
(A) 5058 (B) 3058

(C) 4058 (D) 6058

50. The compound interest on Rs 8, 000 at 5% p.a. for 3 yearsis
(A) Rs. 1251 : (B) Rs. 1871
(©) = Re. 1361 , VET Rs. 1261

&) iy apapuie m, 8 000, 3 gy anBssie 5% aupL el igefgriig ﬁem..t@m aulg GTG!JQ.IWG.l?
A) @ 1251 | . B . 1871
© - _1361 D m. 1261

97.  Arun deposited T 4,000 in a bank for 3 years at an interest 156% per annum. What is the
compound interest that Arun will get after 3-years? :

(&) 1083.50 . 2083.50
S (C) ~ 2183.50 (D) 2483.50

(et ereLeu T 4,000 & qpm euiadlulled 3 C%m@é(g,.m(gl_g,ﬁgb@ 15% aul g udled wpgel® Qewignir.
LTS HDE 3 pemhEE pG sl (B euly erdseuane) Hen_&@GLn? :

(A)  1083.50 ‘ (B) 2083.50

{C) 2183.50 (D) 2483.50



69.

95.

Find the compound interest on Rs. 31,250 at 8% p.a for 3 years compounded annually?

(A) Rs.8006 . (B) Rs.8106

(C) Rs. 8096 : : & e 8116

SR DEG R on Ay stgud wopdd . 31,250 6 EH ey 8% oSsb wald

3 '%W®$@$6$ &U[H ey s
@A) . 8006 | | B) 8106
© @809 . . O 8116

What will be the compound interest on a sum of Rs. 25,000 after 3 years at the rate 12 p.c.

‘per annum?-

(A) Rs. 20,000 -
(B) Rs.12,800.20

4 Rs.10,123.20

(D) Rs. 10,000

5. 25,0006 3 augsLrsieniet e 12% oy, oS50 Ao i@ sl { aul iy LTRSS
(4) Rs. 20,000

(B) Rs.12,800.20
(C) Rs. 10,123.20

‘(D) Rs. 10,000



184.

87,

The compound interest on Rs. 24,000 compounded half yearly for 1% yvears at the rate of
10% per annum is
(A) Rs. 3,483
‘ﬁ Rs. 3,783
(C) Rs. 3,873

M) Rs.3,973

DH@TUTERTR DG @B (PP Ul lg Sl (b wpanpuled (5. 24,000 5@& < ekl nenmés 10% cullq gD

1% S@THseme Sl SE dal (H eut iy

(A) 5 3,483
@) 5 3,783
(© e 3,873
D) em 3,973

The C.1. on Rs.24,000 at 10% per annum for 1-;— yvears where interest being compounded .

half-yearly is —. : @
Rs.3783 ' . (B) ' Rs.3873 :

(C) Rs.3378 : : (D) Rs.3837

6 Longsgsﬂm@ R0 cy:wm eully. SRS LiLl L Te) ¢, 24 0005@ 1-— W@ anrasdpg 10% sm_u}

. Gﬁggﬂm eﬂam_a;@m Sl (5 B ig. GTEEM?

(A) ®.3783 (B) 3873
© 3378 : (D) 3837



26.

45.

37.

Find the compound interest on Rs. 16,000 at 20% per annum for 9 months compounded
quarterly

(A) Rs. 18,522 (B) Rs. 17,640
(C) Rs. 16,800 W Rs.2522

amL sal® ey 20% s @O&EWLoUrg sterar(héE el sewsdUuGSpg el
epumia 16,0008@ O rshisEnss S &@ sl () eully eTeucUeTe]?

Q) e 18,522 B) @ 17,640
(€)  @. 16,800 D) . 2,522

Find the compound interest on Rs.15,625 for 9 months, at 16% per annum compounded

quarterly.

(A) - Rs. 1,950 (B) Rs. 1,948

(C) Rs. 1,947 \VRS. 1,951

. 15,6250 9 wrsnsEnse 16% <wam® eully aigsdld wpsed® Qalisnd, el ly sToramHéE @
perm GCama&suuLLITD, ol () Ul lgmus STETs.
(A) . 1,950 B) . 1,948

©) . 1,947 D) e 1,951

The compound interest on Rs.30,000 at 7% per annum is Rs.4,347. The penod (yrs) is
wl 2 ® 21

© 3 ' D) 4

gpuml 30,000 &@ 7% cg;,am@a;@ flenL @ Qgras gl [ QJL.[q_UE]GU o5 4,347 Grso'rmrr@
QoG «2,&@(H TeueueTay?

@ 2z | B 24
€ 3 ™ 4



89,

30.

- In what time wz]l Rs. 1,000 become Rs. 1 331 at 10% per annum compounded annually"

W -2 -

© 4 - _ (D) None ofthese

. 1, 000 gl 10% Q,sm@ &l (B ey eﬁgg@w Grg.gmar Q{,m@mﬂw - 1,331 a0 ?
@ 2z . | ® 3

© 4 @ Copmpucidoapeb Gome

In how many years will a sum of Re 1,000 becomes Rs. 1,331 at 10% per annum '
compounded annually?

3 yeara (B) 2years
(C) dyears . (D) 5years -

Gr,sﬁnm Harhsaiia, m. 1,000 geag gemype 10% iy dgb sl @ wly sarad@on Curg
. 1,331 gym107? _

Q) 3 yar@adr B 2merBse

© Ayarpsear D) 5 yarhser



84.

176.

11.

Gayathri invested a sum of Rs, 12,000 at 5% p.a. at compound interest. She received an
amount Rs. 13,230 after *n’ yeara. Find the value of ‘n'.

(M 2 years . L (B} 3vyears

(C} Ayears D) 6 years

sruFHA cemiait @, 12.000 g 5% Aen@ s ey HoHb G usdds 7 aLenH s (s
Qewgni. Syeul g ehled GErens gp. 13,230 QuibnmT rafidy n ar oy &I;FG&T&.

) 2gyenpasr . B) 3ganGadr

©  4gyAnGsa D) 5 genGadr

In how much time will a sum of ¥ 1600 amount to ¥ 1852.20 at 5% per annum compound
interest

(A) 2years M years

(C) 4dyears (D) 5 years

T 1600 yeis) 5% <&B sl @ el i 6igb Qsran( arssman am@aaien T 1852.20 @@n?
Q) 2 gem@ser ®B) 3 @6
©) 4 yarpser D) 5 yar@ser

In how much time will a sum of Rs. 1,600 amount to Rs. 1852.20 at 5% per annum
compound interest

A 2% yrs B) 2yrs

© 4yrs G 3yrs

5. 1,600 a1 5% emr(® sal (B culig aigb Qarar( asgmen ar@safier . 1852.20 <@
(A) 2% yrs B) 2yrs
(C) 4yrs (D) 3yrs



127.

In how much time will a sum of Rs. 1600 amounts to Rs. 1852.20 at 5% per annum

compound interest
(A) 2 years
(B) 1 year

(C) 4 years

M 3 years

gpumi 1600 oyeng 5% opan® sal () euly eisn Caream(® essamen .:%sﬁur(b\.&crﬂcb epumi 1852.50
BGD?

A) 2 yan@psafle

(B) 1 oy erg @

(C) 4 yamhsatia

D) 3 ye@saiad

In how many years will a sum of ¥ 1,600 amount to ¥ 1,852.20 at 5% per annum compound

interest?
3 B) 4 '
© 5 D) 6

T 1,600 a1z 5% H&r( sl B aul g eSzid Qsmem® arssamen gyam@seiio T 1,852.20 deLs@b?

@ 3 B 4
© 5 D) 6



56. In how much time will a sum of Rs. 1,600 amount to Rs. 1852.20 at 5% per annum

compound interest?

(A) 1 year (B) 2years

M 3 years (D) 4 years

. 1,600 a5 5% () sl () cul g €551 Asren() erhgene e Hsafl . 1852.50 p@w?
(A) 1 au(mLid (B) 2amLbd
(C) 3L D) 4eay@mLbd

54 Ina compound mterest the sum T 20,000 will turned the amount % 26,620 at 10% rate of
_interest per annum then the number of years is .

(A) 2 years . M 3 yéars
(C) 4years : . . ) (D) 5 years

gl (R ml_tq.uﬂsu @ 20,000 m 10% ¢gl,c;mn‘@ G)‘.II_L»}.E@ ah@g;su . 26, 620 flenL&8 erpGenetm .-%m(aa;srr

Ggeneu? i ,
@A) 2 e _ . B) 3 yampsr
© Agenbsa D 5enEsd
1. A man mvested Rs. 25,000 at 4% per annum in compound interest and received the amount
Rs. 27,040 after n years, then value of nis :
2 yrs.
B 3yrs. °*
© 2% yrs.
D) 3l yrs
2

Qaulr, 2igd . 25,000 murpw J@THEES sl B em._q. 4% eSgib ped@ Qeig 7 cg,e:mr@.s;cﬁ
&1fl&g) m. 27,040-5 Agrenswns Gugeﬁlmnn araflé n e Ly wrg?

A) 2 genpadr
B) 3 genGsc

© 2% N

® 35 menGed



93.

In what time will Rs. 6,000 amount to Rs. 6,615 at 5% p.a. compounded a_nnually?

(A) 1year- | _ MZyears

(C) 3years (D) 11 years

% 6,000 syeng 5% ) Mmi®) ai iy Spib Qanen® arpgeen H@BsRD T 6,615 @07

~

A) 1.yl - B) 2 yarpadr

© 3 genpes | D 13 gepsdr

In how many years will a sum of Rs. 800 at 10% per annum compounded semi-annually
becomes Rs. 926.10?

(A) 1% years M 14 years
(C) 23 years , (D) 2% years

;.800 ey Qsrenswneng, 10% @ (H alguild aumsdnE Qrarh weon sl el
sa&ELIUL LT ardpmen armHaald oi50sTms m.926.10 21,6 wrmib?

A) 11 aupLiser B) 1% eu@Liser

€) 2% eu@Lrser D) 2% eumLiser



38.

41.

At what rate of _cqmpounﬂ interest per annum will 2 sum of Rs. 1200 became Rs. 1348.32 in

2 years

A 7.5% ‘ - ®) 6.5% S '
_ . . . : i
ﬂ’ 6% . O . 5% - ‘ :

5. 1200 SiEaise 2 aumLiisee 5. 1348.32 Qzrens Hevi_gged SETHEEG sl () Qullg. eﬁggmgél '

@Ay 7.5% - (B) 6.5%
€y 6% A - D) 5%

At what rate percent compound interest per annum will €640 amount tb 2774.40 in 2 years

A) 5% ' B) 6%

© 7% M 10%

@ ( salQaully papuied 2 yarpsaiicr s m.640 peng @.774.40 96 deLssls QuppTED,

() UL lg IS GTEtET?
@A) 5% B) 6%
© % D) 10%

At what rate percent of compound interest per annum will Rs. 640 amount to Rs. 774.40 in
2 years, when interest is being compounded annually?

A 11.5% B) 12%

©) 8% @f 10%

h. 640 ssrang 2 gyar@dselld ahg gl O iy fgsde m. 774.40 s wIMID Fml Heully
a8 UBHLESHDG @ D semsdlLu@dng

A  11.5% B) 12%

©) 8% D) 10%



177. At what rate of interest compound interest per annum will ¥ 640 amount to ¥ 774.40 in 2

years

A 8% B) 9%

M 10% D) 11%

(B gl B cul_igule eremen sz6igSH 5. 640 yang @reanH @O safle op. 774.40 y@G0?

A 8% (B) 9%
© 10% D) 11%
57. At what rate per annum will Rs. 640 amount to Rs. 774.40 in 2 years, when interest is being

compounded annually?

o 0% B) 15%

(C) 20% . D) 25% ’

em. 640 ye1g) @raRi® BTHEaND sal HEASTE 6. 774.40 UE. sa [ ULty 6SHD STGS.
A)  10% ®) 15%

© 20% D) 25%






~

87.

A sum invested under compound interest doubles itself in 10 years. In how many years will
it become 8 times of the initial amount?

(A) 80 years (B) 40 years
y 30 years (D) 20 years

&l aully apeanuier wsed® QeuwiiulL em Gstamswurag 10 yar@safd @riglurdng
aafle Qam_&6 smels Cume 8 L K&Ts THS55I6 ASTETEHD QUHL LD eTEIaIETE,?

(A) 80 eumLrmser : B) 40 cumLraser

(©) 30 eumLmsser D) 20 eumLmisar

A sum of Rs.12,000 deposited at compound interest becomes double after 5 years.
After 20 years it will become

(A) Rs.1,20,000 vﬁ Rs.1,92,000
(©)  Rs.1,24,000 . - (D) Rs.96,000

.12, 000 &’ ® aulguiér 5 cg,em@&@&@ @ wLkisTdng. Gmgum 20 a:tosm@&m AL
ereuGuenay SlepL &G,

@)  ©.1,20,000 ' . (B) ©.1,92,000
(C)  5.1,24,000 | D) .96,000



At the rate of compound interest, a sum of money triples in two years. Then in how many
years it will become 27 tlmes"

(A) 4years {6 years
(C) 8years (D) 9Yyears

&L ey QUL em Qstes Grard su@l_gﬁeu epeTmy mu_rm&rrél,r_r)gg creflen alg Tggean
.GIJ@L.'Q';QGD 27 bLBISTEWD?

(A) 46u@|__mu5m : ) B) 6@,@Ln§u§;eh
©) Samdssr : - D) 9aumLiser
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30.

81.

A sum of money becomes 1.331 times in 3 years as compound interest. The rate of interest is
(A) 50% : B) 8%

©) 17.5% W 10%

R Asmams epenm aumL-SHe sl (B aully clflgsded 1.331 wLksTdng aapmd Siger eully. fdsn
GTGUGUETRY?

A)  50% B) 8%
© 7.5% D) 10%

What is the difference between the compound interests on Rs. 5,000 for 11 years at 4% per
annum compounded yearly and half-yearly?

& Rs 204 (B) Rs.3.06

(C) Rs.4.80 ‘ (D) Rs.8.30

4% e el lg elflesdHe, 1L yamBaErss . 5,000-6@, a@menE @ Wep sarsdLLu@n
() wlys@h, HpangnE Qe weop saEH UL sl () el ikéGh o6 egHursnd
GTETET?

A) . 2.04 B) em. 3.06

©) . 4.80 ’ D) em.8.30

A.man borrows Rs. 2550 to be paid back with compound interest at the rate of 4% per -
- annum’ by the end of 2 years in two equal. yearly installments. How much wﬂl each
"installment be? '

@ Rs.1275 - | () Rs 1283
G Bso1852 o (D) Rs.1,377
_- @m weflzan 5. 2,550 @r,rs;h@' %Gﬁ?@&ﬁh (y)I.q.GﬂGb-@@ 810 Seuaantaeiias gf,l@tbué aal'_@LEULq_u;lrréa- _
gen(sE 4% eigb &L@m;qu&]m B, Gugaﬂmrrrr @eu@mrr@ gmmwuw &ga;a;smu :

| _ @g,rrma;u_lrr@m

@ o 1275 B o 1-,283,

© w1362 e D) @y 1,377



130. A sum on compound interest becomes three times in 4 years. Haw many years will it take to

130.

v become 27 times the original 1f the interest is calculated at the same rate

24 years

36 years

(6 Ggraswneg) aaL_@a.lL_Lq. @,omu) BrenE uHLmiseta 3 wLkisrdpsg. Qs QL g eﬁgm paLD

7 DHS Ggrremsu_lrrsv@ Grg,g,mm QuBLESEEEEL! ApE 27 LLRISTELD

@)
®
(C)
(D)

8 Gu(pLEIGET 7

12 m@tjréaa;eh

24 cu(pLriger

36 Gu@l_réwsa'rr

Usha borrowed Ra. 20,000 from Uma for 2 years at 7%% per annum._At the end of the

second year, what amount Usha paid to Uma if the interest is compounded annually?

A
®

v’

™)

Rs. 23,000
Rs. 3,112.50
Rs. 23,112.50

Rs. 25,000

lz._aarr e o Lomafil b gp. 20,0008 7%% sl Peul iy Sg5Ho 2 e enDsErhe sLan eumiidenmi

araflad @ipeimLmib syt apu.afldd o aym, D_Larreﬁ};j)@ srGagmgw Ggnrens Grafia;mm?

A
®
©

)

. 23,000

. 3,112.50

. 23,112.50

. 25,000



36.

88.

If interest is compounded every six months-a principal of Rs. 8, 000 at 10% rate of interest

will amount to ——————— at the end of 18 months.
(A)  Rs. 9,000 (B) Rs.9,156
W Rs.9.261 (D) Rs.9,282
Do) PATHES RO WPOD ULy SISPIGT GsrésiinlLred . 8,000 & e%sm@ mu; eﬁg,m
10% eligiing, 18 worghisEnde e @y,ﬂ LAWY ngms
(A m. 9,000 . ®) @ 9,156 .
©) @ 9,261 ' ) D) @ 9,282
The least number of complete years in which a sum of money put out at 20% compound

interest will be more than doubled 18 S
@ 3 : . sa( 4

© 5 ® 6

20% sl (B euly AdsshAd eneusalilL PO Qgrra)eo @@LDI_I'N@E@ G BLeusne lﬁ&ﬂmj W

ST 6T GrcnaT?

@ 3 | | (B) 4
O 5 L D) 6



65. Find the compound interest on Rs.1000 for 10 years at 4% per annum if the interest
is calculated quarterly.

) 486 B) 479
(C) 400 : ' D) 500

srram(H&Qamm wpan eully sarédl Il LTe, . 1000&)@ 4% sal (h ey aissHled
10 yampsafler L s@b gl () euLllg ereucene,?

(A) 486 B) 479

(€) 400 = (@) 500



